~— -1 ~—~
g & [l iioioi.
= 3
o S
B/ ©
10k
1072
| 102f
o103 o s
&U 1.1;—- &u 1 "
1 E
0‘95__ 0.9:—'
083 2 3 083 2 3
TP n (PCA to beamline) TP n (PCA to beamline)
—_— it Ulk%llldl SLE] llUdl Ildbb'J. TTEW! (:'UIII
bargpﬁasel -newgeom
-~ 1 =
IS : IS
S )
) =
o [l °
S 14 5
1074 107 ; |
.9101{....i....i....i....!....!.... .910_2_....5
kS (1L T TR
% R e L W= e
T LT 1 0.oF JE I
0.95 e TR b C ] : {
0.9% : s : s 0.8E ; ; ; =
3 -1 0 1 2 3 =3 2 -1 0 1 2 3
TP n (PCA to beamline) TP n (PCA to beamline)
~ I
2
-
o
2
5
107k
SO 1/ PR A SO S PO
R R
MR
0.95 -4 4 L} -FH-
0.9 : : ] : ; |
=3 -2 -1 0 1 2 3

TP n (PCA to beamline)



	Contents
	Page 1


